ke —La ek A L. /\ IENE L. = N e e
Mol PEMX EmERMER KERE B LB O NETARE I §
F 1 H ] X A R P R AR R R F B ERE2THE TH3H (&) ~40 (£) B T X 5F H AR ZE
HE ke BB e 23 HEHT A ARl A be E s Lo = ol
A+ i H Lz P2ia 3L AL 5{\7 6 A
A A 11154 Z&16(5) 11.41 H EAG) 11.58 g R4 11.64[FEFY %A (5) 1175\ A& 11.89
THan H100m | i *TL al #TL Kt el Hel
JEL:+0.2 il FaifE(s) 11.41 A i) 11.58
KT *TL JR s *TL
7H3H 5H4-200m 2R Hifst5) 22.16|H F ==HE@) 22.44(FEAR K@) 22.49[MA fi4) 22.78| & #EA(5) 23.13|0R HE4) 23.27|/ME #EE](3) 23.55| B IRy SEE(1) 23.79
A5 L XA 1L I B B kT kT T
THAH B 7400m R 2EG) 51.87|8nA 1EH@ 52.22| A& (k) 52.30| B H F5u06) 52.44| K #EHL(4) 52.67(ILHR fHEE(3) 53.49| L% 4 53.69
L L K AT N AT (i
THAH B 7-800m @H ZAE) 2:01.93[J50 BKR(@) 2:02.61| 3 HLEAG) 2:02.94| ot KAgH4) 2:03.10[ R4 HIZEQ) 2:03. 14 (k2T 1(3) 2:05.31[FAA #£3=(3) 2:07.65| A PEA() 2:08.97
1L R (i L = AT = el
A 4H ¥ 71500m B R 4:02.56| =AF #R(5) 4:08.68| A 157=(2) 4:09.01 | A4 MEEL(5) 4:10.57| 2%l VEFA(3) 4:10.84|Fjf2 EA®3) 4:11.44| o0 KAH(4) 4:14.10|77H7 FERHI) 4:17.20
1L GR| K& 8L L= L= KT H L AT
TH3H B 7-5000m BH W 15:23.73|NH #H(5) 15:43.28|# R HF#H(3) 16:16.43| ) B &HQ) 16:23.56|/M11 ZRE(3) 16:23.68[ LA HK((4) 16:33.22| %252 HEYV-(3) 16:39.78 1510 $REE(4) 16:54.11
L 1L KT FAVT " = KT FH
TH4H BF110mH(1.067m) |1LEd {HIKG) 15.60( B H E5(5) 16.60[#H HEQ2) 16.72(@H  #22(1) 16.78| 4+ FnE(5) 17.09|FHEF IR (D) 17.29|AH () 17.54|#EA BEM(Q) 17.72
J2:-0.3 L FAIT Jis s T = T L k1
L 43.06[fA7T 43.22| K% 44.10| 11 44.32| 15 B 44.97| 2 45.61| KB 46.09| 5% 47.52
L% @) AN 3 {(6) s BEM) MARE I R/NG)) b #t—) A EEA(2) /NE R ) il #r(©2)
7TH4H BF4X100mR | ZJE ##HG) lil ik A EE(5) il o) fEmE ME@ A f@) T EAG) HA HE©) SEH M)
B HE—2) 2| E5G) HE EZNQ) HEMY 5245(5) VRS EGFR(3) il AH3) ZAY NI¥ (Y 36)) WHK Q)
A A I E B A FEE®R) ARG W) HH Q) NI K& EH RHEQ) (- 9ING))
L 3:27.54 4871 3:29.45 [k F 3:31.73[HE1l 3:32.71[ K B 3:33.45| /K 3:34.90[4 3:36.17
B HE—O) ik A B (5) HE EZNQ) AR V@) K EEH4) WHH EEQ) A BEA(2)
TH4RH BF4X400mR  |FEAR FEHAM) 2w ER6) WA FEE®G) AT B X(5) =R #RG) A i) A KI3)
L 1) AN 3 {(6) 7N x5 [G)) A EH®G) ] F555(3) NI H(3) =l EFEO)
2R Hift(5) Ay iG] e HEM) A ) BAR #2®5) NH ) L 6 6))
TR 4R I HR FiEG) Im90| = H  HEAL(3) Im85|4 F  sEHE@4) 1m80|/IML A& (5) 1m75| 2R #k(5) Im70[FEA HEIT(2) 1m60|VEi/ ¥ (1) Im60|ZEE EH4) 1m55
5 KT AT FAT L KT 5B N
7H3H e il 5 ifEG) 6m73(+1.4)|5EM %A (5) 6m59(+0.7) [l lfF A EA(5) 6m29(+0.8)|/M11 - K& (4) 6m21(+0.6)| =G BT (4) 6m17(+1.3)|/hM &K E(5) 6m15(0.0)| 558 16 EE) 5m95(+0.8)| AT Hiikfi(3) 5m78(+1.2)
AT Al HATT s i AT KT BB
TH4H 57— ek R ELA(3) 12m91(+0.2)| il 252 (5) 12m82(-0.2)[{TE 1Hik(5) 12m69(+0.4)| it HEIT(4) 12m05(+0.8)| /M1l K (4) 11m96(+0.4)|EfE 75(2) 11m95(-0.2)|Fk 7T F A () 1m73(+0.3)| #6816 5(5) 11m53(+1.2)
KA FATT. AL L 5 FH AL KT
- EE R ) 12m36 | T Z87:(3) 12m15| 1t B AG) 1m70|FrH =1(5) Lmd7 | H EH(2) Umal| B (5:2506) 11m35| I #H2(5) 1mI8|HRk M@ 10m11
TH3H | BFAat$(6.000kg) sl KB i ot i e o Yt
B 152r06) 33m90| L B A(5) 33m89| i wFI(E) 32mb9 | ZEME AL (4) 32mb7| AT F7=(3) 30m36(FR3k i (4) 30mO9| i & =H4) 28m71[E%4  H(2) 24m77
THAH | B+ MaEH(1.750kg) e 5 -t i S 7 - B
THAH | Bons00e) AR RE5(4) 56m59 | &2 (4) 50m97| A HG  HiHL(4) 49m73| e A f(3) 48m84 | [#(3) 46m84 |3 EIk@) 45m71| AT FnE(3) 43m95|127%  FH(2) 43m01
AL GR|F& (L AL KT L= L X7 N
THAH Z+-100m wEil TEQ) 13.57|E1L HpA(1) 14.06|f A {FEM) 14.14|FH L-3K0) 14314 BHfEQ) 14.35| K& HFEG) 14.40| A% &TH(2) 14.79|0A #E75(3) 14.84
J2:+0.2 il L KT FATT. KT T 5 KB
TA4R £ 7800m TG 2:28.77TIA £&£(2) 2:29.31|E# HFI(2) 2:30.52| 1 fEHB(2) 2:38.03|'= 8 EHHB(2) 2:43.41|148 0 HHW(4) 2:44.21| 57X FPHRE(D) 2:44.84|EA =<6 2:47.80
KA KT FH = S "2 K Kl
7H4H Lotk | DREWD Am86(-0.3)|#H  L-3<(3) Am72(-0.5) AL BAHE(2) 4m50(0.0)| 7 [ LfE(2) Am38(+0.8)[ & AAE(1) Am24¢+1.0)| B % 75(3) 4m09(+0.4)| A 11 &0 (4) 4m06(0.0)| Il &rdZx(1) 4m01(-0.2)
KT AT K1 K K 1L " 8L
TA3E | P REE@.000ke) I #£3) Im40[FEHA 2(1) 8m71|EEE &) 6m36| & H EARE) 6m19[ L (D) 4m69
KT FH KT = FH
b S 55.35| KB 57.58|F# 58.22
WA Z=R©Q) AR HEEO3) KE HEQR)
THAR | #FOP4X100mR [MHJII #£43) HH Q) il FEQ
A JREE(4) N REREQ) FEE BRHA®G)
HEL BAEQ) FEH RIE(D) AR FEQD
R BriRE 1L 1198 [ K+ 89.54 | A (L 83 | #ATL 1985 78.555 | K REY=Y JIN = 3258k 22.5/5
TAA K+ 6155 38| KB 2054 L7 3 | #27T 125 &L 115

MBI GRiR &Rk *TLEZERL




